(@ Ny, /dndeC

Ratio to ATLAS

0.5

7000 GeV pp Underlying Event
I L e R R

B <N_ > vsn'd(n| < 2.5, p_>0.1GeV)

B ATLAS
--3-- Herwig 7.1.3 default
—— Pythia 8.170 default
----- ¢ Sherpa 2.2.9 default

| T - . . i _: T ! —
I - __ - .:! ET B t e .r/,l\ - T - T - E‘:]‘ . ) I:?El:;!ﬁ —
-.,'. g\ {4 v !,' I g Hgn— A R AR Ll L lex ﬁ Ii
AR : & :F“"' % oAl S AL /.
- : I:tl B ) - : 1 - I:I:l_
} FYCn
_l ' ' ' | | [ | | | | |
:l T T T T | T T T T | T T :
Y i R
) i T T = 1Ty
i , o, b oaabs
l ! ) . . | . | | | | | | |
0 1 2

In| (leading track)

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


